### Q1 \*\*What grade level cluster is your child in?

Answer Choices	Responses	
Transitional K - 2nd Grade	100.00%	27
3rd - 5th Grade	0.00%	0
Middle School	0.00%	0
Total		27

## Q2 \*\*I think my child is being appropriately challenged and supported at her/his ability level in:

	All of the time	Most of the time	Some of the time	Rarely / Never	Not applicable / I don't know	Total
Mathematics	<b>46.15%</b> 12	<b>30.77%</b> 8	<b>11.54%</b>	<b>11.54%</b>	<b>0.00%</b> O	26
Reading	<b>53.85%</b> 14	<b>34.62%</b> 9	<b>3.85%</b>	<b>7.69%</b>	<b>0.00%</b>	26
History/Social Science	<b>42.31%</b> 11	<b>30.77%</b> 8	<b>23.08%</b> 6	<b>3.85%</b> 1	<b>0.00%</b>	26
Science	<b>38.46%</b> 10	<b>23.08%</b> 6	<b>26.92%</b> 7	<b>11.54%</b>	<b>0.00%</b>	26
Writing	<b>42.31%</b> 11	<b>30.77%</b> 8	<b>19.23%</b> 5	<b>3.85%</b> 1	<b>3.85%</b>	26
Physical Education	<b>50.00%</b> 13	<b>19.23%</b> 5	<b>19.23%</b> 5	<b>0.00%</b> O	<b>11.54%</b>	26
Music	<b>50.00%</b>	<b>15.38%</b>	<b>15.38%</b>	<b>15.38%</b>	<b>3.85%</b>	26
Visual Arts	<b>53.85%</b>	<b>38.46%</b> 10	<b>7.69%</b>	<b>0.00%</b> O	<b>0.00%</b> O	26
Wood shop	<b>69.23%</b>	<b>19.23%</b> 5	<b>11.54%</b>	<b>0.00%</b>	<b>0.00%</b>	26
Ceramics	<b>69.23%</b>	<b>26.92%</b> 7	<b>3.85%</b>	<b>0.00%</b> O	<b>0.00%</b>	26
Mixed Media (metal shop)	<b>73.08%</b> 19	<b>23.08%</b> 6	<b>3.85%</b>	<b>0.00%</b> 0	<b>0.00%</b> 0	26
Technology	<b>19.23%</b> 5	<b>23.08%</b> 6	<b>0.00%</b> O	<b>7.69%</b>	<b>50.00%</b> 13	26

### Q3 \*\*I think my child is benefitting from the following:

	All of the time	Most of the time	Some of the time	Rarely / Never	Not applicable/ I don't know	Tota
Academic Intervention & Support (Summer School, Learning Center, Reading Specialist)	<b>7.69%</b> 2	<b>19.23%</b> 5	<b>3.85%</b>	<b>19.23%</b> 5	<b>50.00%</b> 13	26
After School Program	<b>19.23%</b> 5	<b>3.85%</b>	<b>26.92%</b> 7	<b>23.08%</b> 6	<b>26.92%</b> 7	26
Assemblies	<b>30.77%</b> 8	<b>26.92%</b> 7	<b>19.23%</b> 5	<b>7.69%</b> 2	<b>15.38%</b>	26
Conflict Resolution	<b>7.69%</b>	<b>19.23%</b> 5	<b>34.62%</b> 9	<b>11.54%</b>	<b>26.92%</b>	2
Counseling	<b>16.00%</b>	<b>8.00%</b> 2	<b>4.00%</b>	<b>20.00%</b> 5	<b>52.00%</b>	2
Field Trips	<b>64.00%</b> 16	<b>16.00%</b> 4	<b>16.00%</b>	<b>0.00%</b> 0	<b>4.00%</b>	2
Homework Club	<b>7.69%</b> 2	<b>0.00%</b> O	<b>0.00%</b> O	<b>11.54%</b>	<b>80.77%</b> 21	2
Instructional Assistants in Classrooms	<b>38.46%</b> 10	<b>38.46%</b> 10	<b>0.00%</b>	<b>3.85%</b>	<b>19.23%</b> 5	2
Library	<b>53.85%</b>	<b>23.08%</b> 6	<b>7.69%</b>	<b>3.85%</b>	<b>11.54%</b>	2
Middle School Structure (6th-8th Combined)	<b>0.00%</b> O	<b>4.35%</b>	<b>0.00%</b>	<b>0.00%</b> 0	<b>95.65%</b> 22	2
Sexuality & Puberty Education (grades 5-8)	<b>4.17%</b>	<b>4.17%</b>	<b>0.00%</b> 0	<b>0.00%</b>	<b>91.67%</b> 22	2
Small, single grade classrooms	<b>69.23%</b>	<b>23.08%</b> 6	<b>0.00%</b> 0	<b>3.85%</b>	<b>3.85%</b>	2
Technology hardware	<b>19.23%</b> 5	<b>3.85%</b>	<b>19.23%</b> 5	<b>15.38%</b>	<b>42.31%</b>	2
Technology instruction	<b>19.23%</b> 5	<b>0.00%</b>	<b>3.85%</b>	<b>23.08%</b> 6	<b>53.85%</b>	2

## Q4 \*\*At the end of this year, I feel my child will be academically prepared for the next school year:

Answer Choices	Responses	
Yes, in all subject areas	61.54%	16
Yes, in most subject areas	30.77%	8
Yes, in a few subject areas	3.85%	1
No	3.85%	1
Total		26

## Q5 Looking into the near future, how important is it to you that our school have Spanish language instruction?

Answer Choices	Responses	
Crucial, it should be a requirement	52.00%	13
Very important, but should be optional	32.00%	8
Important, but should be optional	8.00%	2
Not very important	4.00%	1
Not important at all	4.00%	1
Total		25

# Q6 If we were to offer Spanish language instruction outside of the normal school day, would you enroll your child: (Check all that apply)

Answer Choices	Responses	
In the morning before the start of the regular school day?	16.67%	3
After school?	88.89%	16
Total Respondents: 18		

### Q7 \*\*The homework my child receives is beneficial to my child's education:

Answer Choices	Responses	
All of the time	38.46%	10
Most of the time	15.38%	4
Some of the time	15.38%	4
Rarely / Never	11.54%	3
I don't know	19.23%	5
Total		26

### Q8 \*\*The amount of homework my child receives is:

Answer Choices	Responses
Too much	<b>4.55%</b> 1
Just enough	<b>86.36</b> % 19
Not enough	9.09% 2
Total	22

## Q9 I feel the quality of substitute teachers during teacher absences has been adequate:

Answer Choices	Responses	
All of the time	30.77%	8
Most of the time	19.23%	5
Some of the time	11.54%	3
Rarely / Never	7.69%	2
I don't know	30.77%	8
Total		26

## Q10 The following question is specific to our Middle School. I think my child is benefitting from the following:

	All of the time	Most of the time	Some of the time	Rarely / Never	Not applicable/ I don't know	Total
The elective offerings	15.38%	0.00%	0.00%	0.00%	84.62%	
	2	0	0	0	11	13
The amount of time dedicated to academic	8.33%	0.00%	0.00%	8.33%	83.33%	
classes	1	0	0	1	10	12
Ball room dance	8.33%	0.00%	0.00%	0.00%	91.67%	
	1	0	0	0	11	12
Extended educational field trips	8.33%	0.00%	0.00%	0.00%	91.67%	
	1	0	0	0	11	12
Life Skills program	8.33%	0.00%	0.00%	8.33%	83.33%	
	1	0	0	1	10	12
Council program	8.33%	0.00%	0.00%	0.00%	91.67%	
	1	0	0	0	11	12

Q11 How aware are you of the efforts of the school Green Team? (i.e. Edible Garden and Food Forest Design, Outdoor Classroom development on Bolinas campus--outdoor kitchen, sink, future tool shed, Food Recycling and Worm Bin Project, Living Willow Structure, etc.)

Answer Choices	Responses	
Very aware	33.33%	8
Somewhat aware	58.33%	14
Not aware	8.33%	2
Total		24

# Q12 Please indicate your level of support for the continued efforts of the Green Team to include the natural environment into our learning curriculum:

Answer Choices	Responses	
I am very supportive and would like to participate	37.50%	9
I am very supportive	29.17%	7
I am somewhat supportive, but have reservations	25.00%	6
I do not support this effort	8.33%	2
Total		24

### Q13 \*\*How does your child feel about school?

	All of the time	Most of the time	Some of the time	Rarely / Never	l don't know	Total
Your child enjoys being at school	38.46%	53.85%	7.69%	0.00%	0.00%	
	10	14	2	0	0	26
The school is a friendly place	46.15%	46.15%	3.85%	3.85%	0.00%	
	12	12	1	1	0	26
Your child feels accepted by the school community	53.85%	42.31%	0.00%	3.85%	0.00%	
	14	11	0	1	0	26
Your child can get help when they need it	46.15%	30.77%	15.38%	3.85%	3.85%	
	12	8	4	1	1	26
Students at school treat each other with respect	19.23%	57.69%	15.38%	7.69%	0.00%	
	5	15	4	2	0	26
Staff at school treat your child with respect	53.85%	30.77%	11.54%	0.00%	3.85%	
	14	8	3	0	1	26
Parent volunteers at school treat your child with	53.85%	19.23%	0.00%	3.85%	23.08%	
respect	14	5	0	1	6	26
Your child feels the yard duty staff is helpful during	34.62%	26.92%	15.38%	11.54%	11.54%	
recess	9	7	4	3	3	26
Your child feels safe at school	57.69%	38.46%	0.00%	3.85%	0.00%	
	15	10	0	1	0	26
Discipline is consistently applied on the playground	23.08%	23.08%	11.54%	11.54%	30.77%	
	6	6	3	3	8	26

## Q14 \*\*Does your child ever feel unwelcome or uncomfortable at school because of any of the following?

	All of the time	Most of the time	Some of the time	Rarely / Never	I don't know	Total
The language they speak at home	0.00%	0.00%	0.00%	100.00%	0.00%	
	0	0	0	26	0	26
Where they live	0.00%	0.00%	3.85%	88.46%	7.69%	
	0	0	1	23	2	26
Their gender	0.00%	3.85%	7.69%	84.62%	3.85%	
	0	1	2	22	1	26
The clothes they wear	0.00%	0.00%	11.54%	84.62%	3.85%	
	0	0	3	22	1	26
Something they are interested in	0.00%	0.00%	15.38%	80.77%	3.85%	
	0	0	4	21	1	26
How much money their family has	0.00%	0.00%	7.69%	88.46%	3.85%	
	0	0	2	23	1	26
Their ethnicity	0.00%	0.00%	0.00%	96.15%	3.85%	
	0	0	0	25	1	26

#### Q15 I feel the school climate is positive:

	All of the time	Most of the time	Some of the time	Rarely / Never	I don't know	Total
On the school bus	15.38%	50.00%	26.92%	3.85%	3.85%	
	4	13	7	1	1	26
On the playground	15.38%	57.69%	19.23%	3.85%	3.85%	
	4	15	5	1	1	26
In the classroom	65.38%	30.77%	0.00%	3.85%	0.00%	
	17	8	0	1	0	2
In enrichment programs	57.69%	23.08%	3.85%	3.85%	11.54%	
	15	6	1	1	3	2
In the school office	65.38%	15.38%	3.85%	3.85%	11.54%	
	17	4	1	1	3	2
In other areas of the school	32.00%	44.00%	4.00%	4.00%	16.00%	
	8	11	1	1	4	2

## Q16 \*\*Is there an adult at school that your child feels comfortable talking to when they need support? Check all that apply:

Answer Choices	Responses	
Yes, a teacher	76.00%	19
Yes, a staff member	72.00%	18
Yes, a parent volunteer	24.00%	6
No	0.00%	0
Total Respondents: 25		

Q17 \*\*Bullying is different than conflict.
Bullying occurs when a student, or a group of students, repeatedly try to hurt, humiliate, or gain power over another student. During the 2014-2015 school year, has your child been bullied by other students in any of the following ways?

Check all that apply:

nswer Choices	Responses	
Physical bullying (repeated pushing, hitting, stealing, etc.)	17.39%	4
Verbal bullying (repeatedly embarrassed, name calling, teasing, threatened/rumor,)	34.78%	8
Relational bullying (repeatedly excluded, embarrassed, etc.)	21.74%	5
Cyberbullying (phone calls, texts, email, social media, etc.)	0.00%	0
I am not aware of any incidents	65.22%	15
otal Respondents: 23		

Q18 \*\*Please describe the steps taken by you, your child, the teacher, and/or staff to resolve the matter. Also, please describe the effectiveness of these steps.

# Q19 Parental involvement can take many forms (volunteering in the classroom, helping out with events, sitting on committees, just to name a few.) How involved do you feel as a parent at school?

Answer Choices	Responses	
Very involved	20.83%	5
Involved	29.17%	7
Somewhat involved	20.83%	5
not involved	29.17%	7
Total		24

### Q20 Are you as involved in the school as you would like to be?

Answer Choices	Responses	
Yes	56.00%	14
No	44.00%	11
Total		25

### **Q21** What is needed to increase parent involvement or participation at school

### Q22 How effective are the following communication strategies?

	Excellent	Satisfactory	Needs improvement	I don't know	Not applicable	Total
Direct communication with your child's teacher	68.00%	24.00%	4.00%	4.00%	0.00%	
	17	6	1	1	0	25
School Newsletter	62.50%	29.17%	8.33%	0.00%	0.00%	
	15	7	2	0	0	24
Emails from office	44.00%	36.00%	8.00%	8.00%	4.00%	
	11	9	2	2	1	25
Teacher emails	54.17%	20.83%	4.17%	8.33%	12.50%	
	13	5	1	2	3	24
Teacher blogs	12.50%	8.33%	12.50%	37.50%	29.17%	
	3	2	3	9	7	24
School web page	28.00%	40.00%	12.00%	20.00%	0.00%	
	7	10	3	5	0	25
Superintendent's blog	20.83%	12.50%	4.17%	50.00%	12.50%	
	5	3	1	12	3	24

#### Q23 The principal is visible/accessible?

Answer Choices	Responses	
Yes	88.00%	22
No	4.00%	1
I don't know	8.00%	2
Total		25

## Q24 I feel the principal takes my concerns and input seriously and addresses them effectively?

Answer Choices	Responses	
All of the time	66.67%	14
Most of the time	14.29%	3
Some of the time	9.52%	2
Rarely / Never	9.52%	2
Total		21

## Q25 I feel inappropriate behavior is handled responsibly and consistently by the principal:

Answer Choices	Responses	
All of the time	38.10%	8
Most of the time	52.38%	11
Some of the time	4.76%	1
Rarely / Never	4.76%	1
Total		21

# Q26 OPTIONAL: Do you consider your child to fit into any of the following demographic categories (check all that apply). This information will only be used to analyze our programs for equity.

10.53%	2
0.00%	(
36.84%	
15.79%	
73.68%	1
0.00%	
5.26%	
0.00%	
0.00%	
15.79%	
	0.00% 36.84% 15.79% 73.68% 0.00% 5.26% 0.00%

### Q27 Is there anything not included in this survey that you would like to tell us?